1. x=-2,y=4< 0, —x%2-xy 9 327

O -12 @ -4 ® 0 @4 ® 12

—x%—ay=—(-2)2 — (-2) x4 =—4+8 =4




>
> d=HE: —12x

— 10x+ L 9]
_—x4x4

= —-12x




T
o
Fy
- 2 R
iy T | o
oju =0 N 5
— = © \Vi I —_
. ®© @ @ K
B | S ce e AR
Ro= e - . e . -
1 1 1 1 1 1
W EE-D - . -
op
* | ©00000®| 4 4 A A AN




® 2

6x—3=x+12

ox =15




b Z o= A& 3km , & W= Al dkm 2 Z oA
o}, A g2 o] ZolE xkmet & o, xof B Ao

@3+4:4 3 3

X X

@ 3x+4x=4 (@))—C-i-
+




D o 4 A5t Al 7158 ALgstel e o] ohd

3x -2y

A7

@ axb+(3xx-2xYy) @a+b+(3><x—2><y)
1 1

-+ -2 bX —

® a 5 (3xx—2xy) @ ax X(3Xx—2xy)
1 1

® a+-x

b (3xx—-2xy)

B ~
@a=+b+(3xx-2xy)
1 1
T Bxx—-2xy)
a
b(3x — 2y)




T ___ T o Il
= — | =y 3 <t
oy 3 o T
o< @ X N]
o B B I 3 e — ey M
s = s 1 N X 3
1.._A|.._ o 1y_A| ol 0 o 17_Al s Al
meX X X o = =&Y
o T = o NI Xy ]
—_ 0 = —
M__| B o T o] —~ T oo o =
= TY X T og il =B o S ®m
G . — N = 2
— o 0 B U S o — 0 8o
- o oS B = S g o 2 i by
ol ol M N N T o~ 3 A N
o 0 e e = —_ S N T
o ~ o <o L a1 L) o =a
XX =] N (o) o 3 3 = S Loy QE
o ol DNy = X3 ol R s R
= ks Tow T s == b o Ty ow 9
3 I o
i ol - s S Qo i I i A J S 2_a3
El o s & Tl ~ 8 3 — e
AL &> o . N E_ oo % S N X _
= W xR0 < ~l= o R N
o] 0 ) RSN = X o o R ~
ol E o ow N = 5 g 3 T~
3 = of 3 =4 Y R of
S S o7 o 9 qp s S T o & O g
= a B Mo Fox = & E M Fox
— — —_ —_~ ~ — =
ﬂ_mo < W NN m 11_.7r 3 B4 AW oy ~ = o m %
@eo@® @ © o © O OV ©® O =




8 oAl 4x-3 & HOHOF?—_}ﬁ%é* aw WA —5x + 7
o] Eitt. o] uj, uf2 7 AArt A= L5HA
O x+1 @ 3x4+1 @ x—3
@ 3x-3 ® 7x+1

PTHA- (4x-3) = -5x+7
= 5%+ T7+4dx—3=—x+4
= A44x—3 = —x+4+4x—3 = 3x+1




x of BRF AT AHA (6-x) : (x+2) =

039 57t a & o,

x+ 2= 3(6 - x)°ll A
x+2=18 - 3x
4x = 16

Lx=4

a+b=>5
4+b=5
L b=1




10. 6% o] AYE 100g ol 12% o] AFES Yol 8% o AYES TH=
#Hal S} 12% o AgES E g Yolof 5h=4] atozt

> £ g

> HeD 50¢g

12% o] AHE9] F& xg ol otHA
6 12 8

2 w1 =2 =
100 < 100+ 756* = 100

S x =50

100 + x)




11. A=5x+6, B=2x-3 < 0, 5 + 0 ExE A
Ao2 7hes] ERRQLS 1) A4aho 2 ohare 7189
13 17 23 27 33
Op @3 O Wy O

~&B

5

10

3A+QB+A—|—B _6A+4B+A+ B

_ 7A+5é0

10
7(5x+6)+5(2x-3)

_ 35x+ 10524215

_ 4bx+ 2710
10




12, G7)5% oo vhist 965 7247 12704 AL 13800 P& A2
sheict. BhLE 9671 7)ot g 150 9 © H o), @75t

% 1719 71A& Forolat,
p ct: 2

> == 5009

D71a 52 1719] 7HA-E& x Yol 5HA 12x + 12(x + 150) =
13800 ©]tt.

12x 4+ 12x + 1800 = 13800

24x = 12000

. x =500

upebA, B9 -5 2t 7R 7442 500 Holtt.




13. 18% 9] AFE 400g ©] Ut} 18% o AFEo| B ag S F oW 15%
o] AFEC] HA, A29] 18% o AFEIANN Ebg S F

24% ©] 2a=ol Aot ol W, a + b 9 gh& F5tof=th

@® 100 @ 125 ® 140 @ 165 (3)180

Par=Ne) OF : I
a2 ¢ 400 x o5 72 (g)
72 15
400 +a 100 =80
72 24
- = o b=100
400—b 100

“a+b=180




(1)x<2¥m,
2(x-2)=8x+4+x-2
—2x—9x=-2
—1lx=-2

2
ST

x= 2 <20lmz 270 A

(i) x>2 & o,
2(x—2)=8x+4+x-2

X

2x-9x =16

-T7Tx=6
6

=07

x=-3 <202 270 WA ghert,




15.

2041 = |yl + [x— 1| & WESH x o ghe] S Topoiel,

Hx>1¢<
2x+ 1 =[x+ [x— 1], 2x + 1 = 2x — 1 52| Y=tt.
2)0<x<1¢¥d,
2x+1=x+|x=1,2x+1=1,x=0
3)x<0 ¥,
x4+ 1=|x+x—=1,2x+1=-2x+1,x=0,x<0°]|2Z
AR e

whebd x©] gto] gL ootk




